A// K&EY & 1 5215 > 4 > 7 (Best15)

2022 R KREFE/ANL—

R—)J

L&

EREF)—THBEFIH

2022/05/22 35

FIYITRER Ny IT7HFYvIED) TR (=)
| T " % g | 2| Z |2 1¥%| a
= K% 7ot | B §§z g 181 % = . K% Fos% | B g{ ; 2 IR
1 T AEEBA% 11 | 45 | 157 | 89 | 7 | 56.7 IEEE AmEEAE 1| 40 | 200 [ 11 [ 12| 23
AEEES" mEA% | 11 | 40 | 188 | 105 | 12 | 850 2 |m3 B xmAz | 10 |36 | 214 | 8 | 9 | 23
3 |mE ® saggis | 10 | 36 | 164 | 91 | 6 | 855 3 |#F wa AmEpAz| 11| 45 | 200 | 9o | 8 | 219
4 | ki AmgEaEA| 11 | 40 | 121 |66 | 9 | 545 t|ex % mmA%z | 10 | 37 | 168 | 6 | 5 | 179
5 |m# A xmA® | 10 | 36 | 304 |24 | 32 | 543 4 |mis Bx mamEgx| 1 [ 30 | w0 | 17 | 12 | 179
6|Ta @A sgxe | 10 | 3 | 160 | 91 | 5 | 538 6 |[&% T waxe |0 |4 | s | 3| 2| 17
1% & xEA® | 11| 30 | 22 | 13| 20 | s32 7|=m mx mEdAs | 11| 43 | 160 | 10| 3 | 173
8 |WT @A Kigxe| 10 | 37 | 44 | 75 | 7 | 521 8 | L@ % Kipmgxs| 10 | 36 | 48 | 6 | 8 | 162
9 [mim Bx mamers| 11| 30 | 202 |50 | 25 | 514 o |wm 2 wgas | 10 [ 36 | 120 | 17 | 14 | 160
UEERIN wamgis | 10 | 36 | 260 | 127 | 11 | 488 10| W mamsmA 10 | 36 | 151 | 5 | o | 156
1|=m =3 satgkz | 10 | 36 | 160 | 77 | 11| 481 1% & FmAE | 11|30 | 134 | o | 9| 152
12|&E 2 mamEer| 11| 30 | 2m | 130 | 25 | 480 | |12fds et Rk | 11| 43 | 134 |12 | 5 | 15
13[aa e xmEAe | 11| 30 | 26 | n3| 19| 470 13|Am & saggxs | 10 [ 36 | 140 | 9 | 1 | 150
14| smst maxe | 1 | s | 268 | 127 | 15 | 474 | |1axm A satgkz | 10 | 36 | 127 | 12 | 7 | 146
15/&F % mEky | 10 | 37 | 35 |68 | 42 | 413 | |i5|ma mw maEexz| 1 [ 30| 1o | 5 | 4 | 130
TEYYREE (%) =FR-ITH*100 BER=72vIBE+ITAVIBE+Y—TBA
o | & 2|t s
B ke rus | 8| 1 # S B ke rus | 5|7 # S
B # s i
EED xEAE | 10 | 36 214 5.94 IEIR= maxz | 11| 4 33 0.75
2 | KiREEA| 11 | 40 209 5.23 2 |uE & maEER 11 | 30 28 0.72
3|27 % mEAz | 10 | 37 168 4.54 3w B RREFEXE 10 | 37 26 0.70
4|57 wE KIREREA| 11 | 45 202 4.49 4 |7m B AwakE | 10 | 29 20 0.69
5 || msk mIEEsB A 10 | 36 151 4.19 5 |#m = gaxy | 1| 4 21 0.61
6| L@ % KimEExE 10 | 36 148 411 6 |% m KRR 11 | 40 21 0.53
1|Em =X xEERK 8 | 31 127 4.10 7|a% 8= mEEmAS 10 | 40 20 0.50
8 |xm a@gEk®E | 10 | 36 140 3.89 8 |nes & KIRERAZE 11 | 43 20 0.47
9 [mim Bx mamEExs| 1 | 3 150 3.85 8 |wm 1= ks | 10 | 36 17 0.47
10|25 #x AwakE | 11| 8 160 3.72 8 |=m =7 a@fEk | 10 | 36 17 0.47
1|&Ex BEx maxe | 1| 4 151 3.68 RIIE KipEEAZE 11 | 40 18 0.45
12| K5 ks | 10 | 36 129 3.58 12|58 BX maEER 11 | 3 17 0. 44
13|k A a@fERE | 10 | 36 127 3.53 12|54 K xmA% | 11| 36 16 0. 44
14|x & xmAE | 11| 3 134 3. 44 12|mE & T@eEkE | 10 | 36 16 0. 44
15)%W 2 mmmA] 10 | 39 133 3.41 HEEES mEXxy | 11 | 40 17 0.43
T2y bHEYDTEYIRERY (XK) =BR-HBEY b 1y bHEYDTOYIRERHE (K) =BR-Hty b
H—JRRE
B e sz | B Slulelnl = 21 |m B sz | B Sle |55« %
i Gl L xR |®|R|%| |8 BlL IR | lal®]|=
1 [ 2 waRE | 10 | 36 | 126 | 14 | 33 | 12 [15.3| |[1[&# exE gak® | 11 | 41 | 153|133 ] o | 20 [86.9
2 |mx 2% AmkEx| 11| 83 | 19| o | 27| 18 |1a2| |2]|dxnE xmA® | 11 | 30 | 177|148 ] o | 20 |836
3B w2 oAz 1 | s [ 143 | o | a6 | 20 [108| |3|mx we gaxe |10 | 41 |20 170] o | 40 |80
4% B Kiggxz| 11 | 40 | 156 | 12 | 52 | 33 |107] |4|ms# k= uatgkz | 10 | 36 | 152 [ 123 o | 20 |80.9
5 |mmE o Ammzxz| 10 | 31 [ 3| 5 | 33| 6 |104| |5|wx = xmAz | 11| 30 | 260 [ 191 | o | 49 |796
6 | ki ApEaEx| 1[40 || 7 | 8 | 12 |99 | |6|hm mik AmREgx| 11 | 40 | 243 [ 192 | o | 51 [79.0
AESFA mEkz | 10 | 97 [163| 5 |61 | 20 |94 |7|5s @ sataRs | 10 | 36 [ 133 [ 104 | o | 20 [782
8 |HmE = gaxe |1 |4 | so| 5 | a2 | 7 o2 |8|nF ma AmEEAz| 11 | 45 | 221 [ 170 | o | 51 | 769
9 |mis = sz 1 | a0 [ 162 | 12 | 40 | 30 |90 | |o|ms st Rtk | 11| 43 [ 180 | 138 | o | 42 |767
10| £2 2 smEexz| 8 | 28 [ 1a| 5 | 20 | 9o |88 | |o|mx k= ok | 1| s [ a6 |37 | o | 00 |762
10|@% @+ AmEzxz| 9 [ 30 [ 130 2 | 4| 2 |88 | |10|mx KimgAx| 10 | 36 252 [ 192 | o | 60 |76.2
12|me g xmAe |11 |30 [ 62| 6 | 2| 3 |s2]| |12xEmk mamsmAs| 8 | 34 | 160 | 126 | o | 43 | 746
13|%F BE AmaEx| 1| 3 [ o | 3 || 7 |so| |18z mea Rtk | 10 | 30 | 227 | 166 | o | 61 [ 731
14| w4 mgxe |10 [ 36 [ 125 5 | 23| 4 |78 |14|ek @t KiEExz| 9 | 30 | 260 [ 196 | o | 713|720
15|&5% BT saxe | o | o || || s |17 |5|amm mE A | 11 | 40 | 100 | 144 | o | 55 | 724
Y—THRE (%) =(H—EXT—Xx100+%FE x 25—k x25) +iTH P—TLI—TRME (%) =R [E] x100+mKII[R] x50) ~$TH

KEAZEDZEFER.

ABPFEEAHBRNL—R—LBRICTRELET .




